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Which of these is NOT a kill point for Symantec NetBackup?
 
 
A. Architectural fundamentals still rely on regular FULL backup operations 
B. Limited scalability of de-duplication building block 
C. Media server scalability, cost and complexity 
D. Limited sophistication with structured backup process 
E. No Integration with the Flux Capacitor 
 

Answer: E

 

 

Can EMC and HP provide the same function as a storage hypervisor?
 
 
A. Regardless type of disks 
B. Regardless of the vendor of disks  
C. Only on their own brand of disks 
D. Only on IBM disk 
 

Answer: C

 

 

Which of the following does Server Hypervisors NOT provide?
 
 
A. Better utilization across many different types of disk 
B. Pooled physical resources are consumed by virtual machines resulting in high asset
utilization 
C. Virtual machines are mobile giving CIO's their choice of physical server device 
D. A common set of value capabilities and centralized management are provided for virtual
machines regardless of what physical server they are sitting on 
 

Answer: A
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